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REVISION TEST (Ch17&18)

Q“% Find the area of a %riangfe whose. sides
Are. 3Yum, 20cem and Y2em. He,nce_,find the

| lengéh of the altitude corre_s/aonc(/'nf to the

shortest side.

' Ques.2: Find the area of an eguilateral £rianf/e,

Whose  side is Em . Give Your answeb correct
; to tup decimal Pﬂaces.

| Q_‘*‘LS-S:— If the lengﬁns of the sides ofa.zlrial%é

- are in the ratis 3:Y:5 and jis perimeter /s
YSem , find its area.

Ques.l{:— Find Hte. areq ofan l'sosceﬁes véu'anf/e.
whose base is 6cm and perimeter is 18 em.

Ques.5- If the area of a semi- circular region
is F+em*, Pind its perimeter.

Ques.6:- The wheel of a cart s making 5 revolutions
ber second . If the diameter of the whedl /s
&Y cm, Pind its Sﬁeeo( in km/h. Give Your answer,
correct 4o the nearest km.

AQues. 7:- The circumference of a circle. |s 123.2.cm
Caludate -

0> the radius of the cirJQ» in ¢cm.

U1 the area o-ﬁ the circdle in c_m"/ Corre_c't to the
nearest cm®*

@u25-8!~ Tﬁe sum 018 diamef:ers o-f {um- cfroés IS

1Y and the diflerence. ol their cireumterences
is 8em . Find the circumberence of the twy circles|
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Soﬂm{ion of /?ev{‘sion Test-3
Sol.1:- ¢

T ——

onsider 3Yem, 20em and Y2 em as the

Sides of %riang/e let a =3Yem ,b=20cm and.
c =Y2aem

S =

—_—

semi perimeter = a+b+c _ 3Yy20+Y42

2.

2=
= C_?_é :‘*/gC,l’h
e

—

—

Area of ‘lr:‘ana/e /s (s-a)(s-b) -<)

= 48 (ue-3y)(u8-20) (Y& -42)
= [ @X6xIY XIYX2xg
= TN ME

JYxg x4 = 336 cm*
Here, the shortest side of the %riang/e, js 20tm

Area of 'éfl'anﬁ/e e —2L_X1>a.<:e X %eigﬂz‘

336 = L x20xh
-—"—> A';: 336Xx2

& X2

—_—

S = 33.6 em
Sol-2+~ Side of eguifa%emﬁ triangle = €m
Area of e.zuila%emll -l-rianﬂ@ =_\/q§_éic{e)’-

=L5_ XEXE
= 5 *xle = /Jﬁ
~ 16X ]-132 = 2FFIm*>

e P«ge 1—
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Sol 3:- |of the sides are 3%, Yx and 5x
Given, perimeter =48cm

Semi- berimeter = 3+ +5x =Y8 = 2Ycem
2 2
= 2x =48 D x =Yy
2 i+ 4

Here, s=2Y4, a =12 ,b=16,c =200
Area oaQ %rianj/e, = /5(5—-@C5~1>)(5”C)
= 24 (2412 GY-16)E1-20)

= /24 % |2 xEXY
= lzxYx 2 = Gfem

Sol Y- BQSa o—? ‘b’ianj/é = 5Cm/Perimefer=/5Cb1

Let the other twy egual sijyc are. xcmeach

Tﬁen, ,berimezler Of %riang/e =XU+UH+E :/o/cm
= 2x=locm D x=5m each.

S&) ‘H’la sides O'np 'Z’i’ia)%Ze are 5cm/56i’)’)dh£/56m
Bg usinoq Heron's Fosmula, 3

Ayea 019 %rianffe, = |2cm*

Sol 5:— Area oﬂ a Semicfrcuﬁar 9Le.<?ion = FZem”*

Consl'dcr‘ S AL %he radius of ,l;he reg,-&ﬂ

e 2. = L x 22 M =
Area S Tt D 5 = X 77

2D x> = FEX2X?F = yq = I*
2 2

S % =F¢m Perimeter of the region
=T + 220

~ fage 2 —
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= 22 x3 +2xF = 22+]1Y = 36¢cp,
+

Sel.6:~ Diameter of wheel =8Ycp
Radius of wheel = 5’(/ =Y2 em

Here, Circumberence. ol Whee,ﬁ = 23CR

—zxg#% xYo =26Ucem

Se ,
) the d:sjcante covered in 5 )ze,ducfl'ons

=264 X5 = 1320 em
—’-Ima = 1 Secono(

Speed of wheel = 1320 x 60 x &o
IX Joox[ooo
= YZ.25 km/}g
: = Y& km/hs.
_@_@_j-” Circumberente. of cirde =232 cm

= 23Th = 183.2 5 2X22 w9 = 123.2 ¢y,
7+

D P =128:2 X F
2%X22

() Here, Area of the circde = stH=
Subs%i{u%iry %he V&lL&ZS = 22 ¥ /96 x19.4

(1

= 19-6 cm

Sol- Hintt~ 2R+42% =14 = Rin =7 -
| 23TR-25tn=8 =) J‘C(R__}z_):q_._.[/'b
56, R= 91 and % = 63 5 oxR = 18em

2.2 2_2.
and 255 = 26em
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